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WALK-IN-TEST II 

PAPER I - UNIT- III: GENERAL APTITUDE & MENTAL ABILITY 
 
Time: 30 min                                 Total marks: 50 

SECTION A 
2 x 10 = 20 

Answer not exceeding 150 words each  
 

1. Answer the following questions 
gpd;tUk; tpdhf;fSf;F tpilasp 
 
a. Find the difference between C.I. and S.I. on ₹ 5000 for 1 year at 2% p.a. if the interest is 

compounded half yearly.  
₹ 5000,f;F 2% Mz;L tl;bapy;> miuahz;Lf;nfhU Kiw tl;bf; fzf;fplg;gl;lhy; Xh; 
Mz;Lf;Ff; fpilf;Fk; jdptl;bf;Fk; $l;Ltl;bf;Fk; ,ilNaAs;s tpj;jpahrj;ijf; fhz;f 

 
Explanation 

 

Principal (P) = ₹ 5000 
 
Time period (n) = 1 yr. 
 
Rate of interest (r) = 2% p.a 
 
For half yearly r = 1% 
 
Difference between CI & SI is given by the formula 
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b. In a Laboratory, the count of bacteria in a certain experiment was increasing at the rate of 

2.5% per hour. Find the bacteria at the end of 2 hours if the count was initially 5, 06,000 
xU Ma;tfj;jpy;> Xh; Muha;r;rpapy; xU tif ghf;Bhpahf;fspd; vz;zpf;if xU kzpf;F 
2.5% tPjk; mjpfhpf;fpd;wJ. njhlf;fj;jpy; 5>06>000 ghf;Bhpahf;fs; ,Ue;jhy;> 2 kzp 
Neuj;jpw;F gpwF mjd; vz;zpf;if vd;d? 
 
Explanation 
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P = Original count of bacteria =506000, 
Rate of increase =R=2.5% per hour, 
Time =2 hours 
Bacteria count after 2 hours = A 
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2. Three men A, B and C can complete a job in 8, 12 and 16 days respectively. A and B work 
together for 3 days; then B leaves and C joins. In how many days, can A and C finish the 
work? 
A, B, C vd;w %th; xU Ntiyia KiwNa 8, 12, 16 ehl;fspy; Kbg;ghh;fs;. A> B ,UtUk; 
Nrh;e;J mt;Ntiyia 3 ehl;fSf;F nra;jdh;. gpd;dh; B tpyFfpd;whh;> C NrUfpd;whh; vdpy;> 
A> C Mfpa ,UtUk; Nrh;e;J mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;? 

 
Explanation 
 
Three men A, B and C can complete a job in 8, 12 and 16 days respectively. 

(A + B + C)'s one day work = 
1 1 1
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 

1 1
(A + C)'s one day work =

8 16

2 1 3

16 16
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
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3
work completed in 1 day

16

9 16 9
work completed in 2

24 3 24
days 

 

 
SECTION –  B 

2 x 15 = 30 
Answer not exceeding 250 words each 
 

3. In a class of 50 students, 28 opted for NCC, 30 opted for NSS and 18 opted both NCC and 
NSS. One of the students is selected at random. Find the probability that  

(i) The student opted for NCC or NSS 
(ii) The student opted for NCC but not NSS.  
(iii) The student opted for NSS but not NCC.  
(iv) The student opted for exactly one of them.  
(v) The student has opted neither NCC nor NSS 

50 khzth;fs; cs;s xU tFg;gpy;> 28 Ngh; NCC apYk;> 30 Ngh; NSS Yk; kw;Wk; 18 Ngh; 
NCC kw;Wk; NSS Yk; Nrh;fpwhh;fs;. xU khzth; rktha;g;G Kiwapy; Njh;e;njLf;fg;gLfpwhh;. 
mth;  
 
i. NCC my;yJ NSS ,y; 
ii. NCC apy; ,Ue;J> Mdhy; NSS,y; ,y;yhky; 
iii. NSS ,y; ,Ue;J> Mdhy; NCC apy; ,y;yhky; 
iv. xd;Nw xd;wpy; kl;Lk; Nrh;e;J 
v. NCC my;yJ NSS ,uz;bYk; Nruhky; ,Ug;gjw;fhd epfo;jfTfisf; fhz;f 

 
Explanation 

 
Total number of students n (S) = 50. 
 
Let A and B be the events of students opted for NCC and NSS respectively. 

 
 
(i) We know that P(A∪B)=P(A)+P(B)−P(A∩B) 
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28 30 18
P(A B) 

50 50 50

40 4

50 5

   

 

  

 
(ii) Probability of the students opted for NCC but not NSS  

28 18 1
( ) ( ) ( )

50 50 5
P A B P A P A B        

 
(iii) Probability of the students opted for NSS but not NCC.  

30 18 6
( ) ( ) ( )

50 50 25
P A B P B P A B        

(iv) Probability of the students opted for exactly one of them  
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(sin , )
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(v) P(not A and not B) 
= P(A' and B') = P(A′∩B′) 
= P(A∪B)′      [(A′∩B′)=(A∪B)′   (by De Morgan's law)] 
=1−P(A∪B) 
=1−P(AorB) 

4 1
1

5 5
  

 
 

4. Answer the following questions 
 
a. A garden roller whose length is 3 m long and whose diameter is 2.8 m is rolled to level a 

garden. How much area will it cover in 8 revolutions? 
ePsk; 3 kP kw;Wk; tpl;lk; 2.8 kP cila xU rkd;gLj;Jk; cUisiaf; nfhz;L xU 
Njhl;lk; rkd;gLj;jg;gLfpwJ. 8 Rw;Wfspy; vt;tsT gug;ig cUis rkd; nra;Ak;? 
 
Explanation 

 
Given that, diameter d = 2.8 m and height = 3 m 
Radius r = 1.4 m  
Area covered in one revolution = curved surface area of the cylinder 

2 .

22
2 1.4 3 26.4

7

rh sq units

    
 

Area covered in 1 revolution = 26.4 m2  
Area covered in 8 revolutions = 8×26.4 = 211.2 

Therefore, area covered is 211.2 m2 
 

b. A solid wooden toy is in the form of a cone surmounted on a hemisphere. If the radii of 
the hemisphere and the base of the cone are 3.5 cm each and the total height of the toy is 

17.5 cm, then find the volume of wood used in the toy. (Take
22

7
  ) 
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xU jpz;k kug;nghk;ikahdJ miuf;Nfhsj;jpd; Nky; $k;G ,ize;j tbtpy; cs;sJ. 
miuf;Nfhsk; kw;Wk; $k;G Mfpatw;wpd; Muk; 3.5 nr.kP. NkYk; nghk;ikapd; nkhj;j 
cauk; 17.5 nr.kP vdpy; mg;nghk;ik jahhpf;fg; gad;gLj;jg;gl;l kuj;jpd; fd msitf; 

fhz;f. (
22

7
  ) 

 
Explanation 

 
Hemispherical portion:  
Radius, r = 3.5 cm 
 
Conical portion: 
Radius, r = 3.5 cm  
Height, h = 17.5 - 3.5 = 14 cm 
 
 
 
Volume of the wood = Volume of the hemisphere + Volume of the cone 

 
 
c. The length and breadth of a room are 8 m and 5 m respectively. A red colour border of 

uniform width of 0.5 m has been painted all around on its inside. Find the area of the 
border. 
8 kP ePsKk;> 5 kP mfyKk; nfhz;l xU miwapy; cl;Gwkhf rPuhd rptg;G tz;zg; 
ghij 0.5 kP mfyj;jpy; g+rg;gLfpwJ. rptg;G tz;zg; ghijapd; gug;gsT fhz;f 
 
Explanation  

 
 
 
 
 
 
 
 
 
 

Area of the path  
= (Area of outer rectangle) – (Area of inner rectangle) 
= (40 – 28) m2 
Area of the border painted with red colour = 12 m2 

 
 
 

Outer (given) rectangle Inner rectangle 

l = 8 m 
b = 5 m 
Area = 8m × 5 m 
          = 40 m2 

width, w = 0.5 m 
L = l - 2w 
= (8 – 1) m = 7 m 
B = b - 2w 
= (5 – 1) m = 4 m 
Area = 7m × 4 m 
         = 28 m2 
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